®

&
= a*

a2



2. SR A x4 4% ST drpy - 0] He, ol
oFaH4] A

ok o

® -5x-3y-7 @ -5x-y+1 ® 3x-y+1

@ 5x+3y-7 ® 5x+3y+7



3. (x+5)(Bx+2y) = AMA= W, y o] AE F5tolt

>R
=%



(

3x-4P+a=92+bx+10 LW, a+b 9 F2? (Fa b=

@D -36 @ -30 3 -24 @ -18 ® -12



= oA &A% (1, -1)°l si7t He A2 BF ¢

NQA7E?
@ 3x-y=4 © 9x—4y =12
® -x+4y=-5 ® y=ax—-a-1

@ 4 7 @ 374 3 27 @ 170 ® 07}



A 2x+3y+5=0 2

® 3 3 0

W (-2.p) 2, p O B

@ 1 B -1

9



x, 7t AAed o oS AYHAHA -3x+y+a=0,bx+2y =6

of st






9. 3ab®>+|  |=4a3pQ [ ot

bc
® ]. 2a2bc @
0 12

3a2¢ ac



10.




11.

(x y)2 _4.%—]7HMO]

D (x+y)?
@ —(x-y)?



12, x(x-1)(x+ 1)(x-2)& A7 o, 229 A%2 Fofolat,

>R
=%



n= Stz p =l
pr
© t= p(nr—1)
s
p(nr+1)

nr+1
sp




14.

2x+2y=x+5y¥

e
-



15.

YA

i
H|

3x-by="T7

T ZEd ol a - 3b 9

ey g

&7

®9

@ 8

ONy

Ol\\a:'

B 14

10



3x+5y=38

i

a

i1

a3






18. 25 x33x23x35 & 7tds] 6hH?

@D 68 ® 6° B 65 @ 9315 B 238



19.

A B olgsto] theL Adstu?

311 x 311 -310x 312 -2

D -2 ® -1 3 0 @ 1




20. g % obdl AW Wt B 5 g A
0.2x - 0.7y = 0.1x - 0.5y = 0.3x — 0.9y

DO x=2y=1 @ x=1y=2 @ x=-1,y=2

@ x=-3,y=1 ® x=4, y=-2



of st gl= o,

® -10



22. 9% =g g daprt ok o] bt 250m He v E
A s}o:] ot A4d w712 25 27F A€, 1070m 5= HYS
%ﬂro}tﬂ A2t [A7EEE ol ARE AITH2 35 2] Gl o

o o] dolE F-akei=t,

Qe "

_L40_|_,
_,r_?la



(1) + (12 + (-1 4+

4 (_1)2009 + (_1)2010 9}] %}\—_‘O:‘)

® -2009 @ -1 ®o0
@ 1 ® 2010



24.

oL AZA FHAALE I e §5F 2 Fol ek
Zoll= M=) 370, Ax] 73, o] 1 22ke] 1.0 3150 Yol
8 97, 2 G5Ol MR 4 A, 75 10 2, 5ol 1 22]
M0 2 4200 Yol A ek, o Aol A MESA 1 A, A 1
A, vfo] 1 2742 woelw Qnprh WagA] Fstele

> R )

rek
o of
S

©
o

.



25. ol shawe] Zle] bl Sk 1100 Wol ek, Fol Aynct
o

@D 480 ¥ @ 500 9 ® 576 %



